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MAT257 Analysis Il on November 16, 2020: Fubini's Theorem. () D D) e

Read Along: Spivak 55-56, 56-62. ﬂ
__TT1 Comments: Solution sets, appeals Qrse: CL A ) ~h sy
Riddle Along: How many bangs? J J
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MAT257 Analysis Il on November 18, 2020: Fubini's Theorem.
Read Along: Spivak 56-62. HW7 is due at 11:59PM, HW8 is on web.
-~ Riddle Along: Your turn!
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MAT257 Analysis Il on November 20, 2020: Fubini's Theorem, partitions of unity.

Read Along: Spivak 56-62 and 63-66.
~Riddle Along: n prisoners. Each wears a tower of infinitely-many randomly-chosen b/w hats. Simultaneously each needs to pointat

a black hat on their head. How can they maximize the chance that they will all get it right? Can they do better than 1/2*n?.
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